
Confidential 
Pricing subject to change without notice 

Sherex Fastening Solutions ~ 400 Riverwalk Pkwy. Suite 600 ~ Tonawanda NY, 14150 
866­4SHEREX ~ www.sherex.com 

PRICING SUBJECT TO CHANGE WITHOUT NOTICE 

IT Installation Tools 
Disposable Hand Installation Tool designed for field repairs or consumer installations 

Installs Series: CAL, CAK, CAO, CFT, and CFW 
Installation Sizes:  6­32 to 3/8­24 (M4 – M10) 

IT INSTALLATION TOOL 
In Bulk Boxes ­ NUT ONLY 

IT INSTALLATION TOOL 
Bag with Instructions  ­ NUT and MANDREL 

Thread Size  AVK  SHEREX  Price 
(each)  Thread Size  AVK  SHEREX  Price 

(each) 

6­32  AA181­632  IT­0632 NUT  $2.84  6­32  AA184­632  IT­0632  $4.00 

8­32  AA181­832  IT­0832 NUT  $2.84  8­32  AA184­832  IT­0832  $4.00 

10­24  AA181­1024  IT­1024 NUT  $2.84  10­24  AA184­1024  IT­1024  $4.00 

10­32  AA181­1032  IT­1032 NUT  $2.84  10­32  AA184­1032  IT­1032  $4.00 

1/4­20  AA181­420  IT­2520 NUT  $2.84  1/4­20  AA184­420  IT­2520  $4.00 

1/4­28  AA181­428  IT­2528 NUT  $2.84  1/4­28  AA184­428  IT­2528  $4.00 

5/16­18  AA181­518  IT­3118 NUT  $2.84  5/16­18  AA184­518  IT­3118  $4.00 

5/16­24  AA181­524  IT­3124 NUT  $2.84  5/16­24  AA184­524  IT­3124  $4.00 

3/8­16  AA181­616  IT­3716 NUT  $2.84  3/8­16  AA184­616  IT­3716  $4.00 

3/8­24  AA181­624  IT­3724 NUT  $2.84  3/8­24  AA184­624  IT­3724  $4.00 

M4  AA181­470  IT­470 NUT  $2.84  M4  AA184­470  IT­470  $4.00 

M5  AA181­580  IT­580 NUT  $2.84  M5  AA184­580  IT­580  $4.00 

M6  AA181­610  IT­610 NUT  $2.84  M6  AA184­610  IT­610  $4.00 

M8  AA181­8125  IT­8125 NUT  $2.84  M8  AA184­8125  IT­8125  $4.00 

M10  AA181­1015  IT­1015 NUT  $2.84  M10  AA184­1015  IT­1015  $4.00 

To Use: 
1)  Drill a hole into the material requiring the rivet nut. 
2)  Place bolt through the unthreaded nut with the smooth side of the nut in contact with the head of the bolt. 
3)  Thread rivet nut onto the bolt until the head of the rivet nut comes in contact with the knurled side of the unthreaded nut. 
4)  Place rivet nut into the hole. 
5)  Position two wrenches on the nut and the bolt head.  Turn bolt clockwise causing the rivet nut to collapse and install in the base material. 
6)  Tighten until rivet nut cannot be installed further. 
7)  Remove bolt from rivet nut. 
8)  Attach component. 

Mandrels are for 1 st grip range product only. 
Contact Sherex for part numbers and pricing on 

2 nd grip range mandrels. 

MADE IN THE USA!


